[image: image1.jpg]89,) Two particle with charges Q and —Q are fixed at the vertices of an equilateral triangle
with sides of length a. If k = 1/4n € o, the work required to move a particle with a charge
g from the other vertex to the center of the line joining the fixed charges is:
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90,/ A particle with mass m and, charge —q is projected with speed vy into the region between
two parallel plates as shown. The potential difference between the two plates is V" and
their separation is d. The change in kinetic energy of the particle as it traverses this

region is:
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@ An electron is accelerated from rest through a potential difference V. Its final speed is
proportional to:
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